Information for Replacement of
FR-HC Series and MT-HC(-S) Series

Replacement model
FR-HC2 Series

Size, connection, parameters, options concerning replacement are stated on the following pages.

(1/38) BCN-C21002-137A




1. SIZE

(gesz)

W.lEL-200LED-NOHE

The following table shows the installation size required when replacing an FR-HC/MT-HC(-S) series converter by an FR-HC2 series converter.
For details of the sizes, refer to the outline dimension drawings on the following pages.

Installation size

Power Existin Replacin High power factor .
supply high power?actor higt?powgr k cgnverter Reactorl Reactor2 Outside Box
voltage converter factor converter FR-HC[] FR-HCL[1 FR-HCL[2 FR-HCBI]
MT-HC MT-HCLJ[]1 MT-HCL[]2 MT-HCB]]
FR-HC-7.5K FR-HC2-7.5K Different size Different size Same Same
Three-phase FR-HC-15K FR-HC2-15K Same D?fferent s?ze D?fferent s?ze Same
200V FR-HC-30K FR-HC2-30K . Same ' D!fferent size D!fferent size Same
FR-HC-55K FR-HC2-55K Different size Different size Different size Same
MT-HC-75K FR-HC2-75K Different size Different size Different size Same
FR-HC-H7.5K FR-HC2-H7.5K Same Different size Different size Same
FR-HC-H15K FR-HC2-H15K Different size Different size Different size Same
FR-HC-H30K FR-HC2-H30K Same Different size Different size Different size
FR-HC-H55K FR-HC2-H55K Different size Different size Different size Same
Three-phase | MT-HC-H75K(-S) | FR-HC2-H75K Different size Different size Different size Same
400 V MT-HC-H110K(-S) | FR-HC2-H110K Different size Different size Different size Same
MT-HC-H150K(-S) | FR-HC2-H160K Different size Different size Different size Same

MT-HC-H220K(-S)

FR-HC2-H220K

Different size

Different size

Different size

Different size

MT-HC-H375K-S

FR-HC2-H400K

Different size

Different size

Different size




Outline dimension drawings (Unit: mm)

[High power factor converter: 200 V class]

mFR-HC-7.5K mFR-HC2-7.5K
2-46 hole —_
/ 2-¢6 hole o
/ =
o
* Parameter e . . FH— L{:_A_M_—‘f'i
unit installa- T . ] & -
tion position -_ ——— —
T
rel =1
88 Sk
[ 1 S| &
L u ;l
. A o o —
6
g 195 —-lLﬁ 170 ﬁl__._
220 220 Rating plate
_ . Protective bush m

iy 8

211
210
mFR-HC-15K mFR-HC2-15K
2-910 hole
2-¢10 hole 3|
* Parameter -9‘.'— L= ¥ [
unit installa- — o bl L !
tion position ~ T FAN
\\
gl g [ |
— @ T 28
o | =
-
H H /
230 10 2
250 250 Rating plate

ek sl

102

W' K ° I
@
rar |
000
242 242
mFR-HC-30K, 55K mFR-HC2-30K
2-4C hole 2-¢10 hole
2-920 hole
b =3 (102) 93
[o i | — I
° o RN
— Loooo Eybolt: 2-M8= ®
— T[T Eybolt: 2-M8- m
* Parameter foann @ | m
unit installa- joueo r
tion position N [onon olo m °
s I E: 3 - a8 m
— Il
[aaon joonc . o
fouon jooonc . ﬂ”ﬂ
— i J -
o) Q - el
T = E S h -
C 3.2 =) 3.2)
wo _..IL_ =] o —-I"— ‘;;g Rating plate/ 195
\‘n\r
280 + The eyebolt is enclosed with the
= = product. Use it as required.
ST ==
@ o——e——e———0 0
C_TOIOI 5] g
W1
Model W W1|W2| H|H1|H2|H3| D |D1]| C
FR-HC-30K 340|324 | 270 | 550 | 530 (510 10 [195| 78 | 10
FR-HC-55K 480 | 464 | 410|700 | 675|645 15 (250 |130| 12

. J_JF ;
ki
ell

(3/38) BCN-C21002-137A



Refer to the outline dimension drawing
on the previous page.

mMT-HC-75K
. 380
580 - -
' n‘:‘ 2511159 195
" Air exhaust
— = S PR
E H [y (Hangar hole)
3-010 |, i
{Mounting hole) NP | L
| m
. i
|
mli
o Accessory cover n t
5 (Parameter unit installaion | & 3|
- posiion) | < i
|
i
i
‘ 0w
&+
R4 84 T4 [ .
i i P [
= w4 E
P Sl 10,1 g&T Air inlet
2-M10 screws
Control cable inlet (earth terminal)
™ ey
[
. N
== = Main cable inlet
(155kg)
12 I 656 | 12

(4/38)

mFR-HC2-55K

2-420 hole 2-410 hole
) @ (150) 100
< &)
L 4
FaN
Eybolt: 2-Mg+ .
]
m .
IR ]
T
w N o
8 B & o
Lo
= —~
=] 10 Rat lat
] _,ll.l:__ 200 Zating plate, 3.2
370 25
282
* The eyebolt is enclosed with the
2 RHEHRHE[IR product. Use it as required
o fo . aEmad .
bk
o I
mFR-HC2-75K
2-$25 hole 2412 hole
F[2:625 hole : 436 | = 93 207
ey, & -4 4 =
ARNRRRRNAN (NRNNNINEN Hnl . FAN
Eyebolt: 2-M10# THmmm [
|fSih I i
LT H
| IHHANTE old
2 2 :
2 :
. . ! ]]
= = )
12 2l 2]
400 Rating plats 300
485
%
| [
o
L o |
* The eyebolt is enclesed with the
8 product. Use it as required
™~

BCN-C21002-137A



[Reactorl: 200 V class]

mFR-HCLO1-7.5K, 15K, 30K

\4-qd
Model H W W1 D D1 d
FR-HCLO1-7. 5K 155 160 145 100 58 5
FR-HCLO1-15K 205 190 170 130 73 6
FR-HCLO1-30K 230 220 200 170 88 6
mFR-HCLO1-55K
Terminal M12 D
™,
[ = a1l
R ] T
T
R2 52 T2
I= = ki =—1| =
! T T ! 1 J 1
= =N = i
N,
| Wi | \, | D1 |
- 4-gd - -
‘ I W 1| s 40 JI 190 1
= o [
Model H W W1 D D1 d
FR-HCLO1-55K 260 210 165 225 160 8

mFR-HCL21-7.5K. 15K

mFR-HCL21-55K

Rating
plate

[:

=t HI T
R2/ 52/ T2/
L12| _L22 32
S = =
RL1 S/L2] VL3 W|th\n DZ
] Dl
T T T T T T _'—7-_,__\\
‘ @ Rafing| date @ ‘ EQLE;% ;/
T == === E I /
@ . ) O ==,
WW:O'S_‘\ i D1%s .
w2 N D+2
\ Vamish removed area (front/rear side)
"4-M6 hole
Model w Wi H D D1 D2
FR-HCL21-7.5K 130 50 Within 150 98 86 50
FR-HCL21-15K 160 75 16725 124 107 60
mFR-HCL21-30K
e -
=]
() —
\f—‘ \—H,J_ '\
o —
b a E /
< \
=
=
T T
" + .
_ 75 _ 873,
180 100+2
Within 185 Within 65|Within 85

Varnish removed area (front/rear side)
4-M6 hole

+*Enlarged
view of
seclion A

Crimping terminal for

(5/38)

6-M12 screws
(80-M12)
\ ‘Within 105
kY I =
|‘ﬁ HEB| q HP]
K i ﬁ A (@ —
#3”-2 ; ,{! 8 m
R2] 27 2| 2 ”
L12] L22) g | ~
I i
+ +H
75t0‘5\
205+2
Within 210 Within 140 |56+2.5

Varnish removed area (front/rear side)

4-M6 hole

BCN-C21002-137A



sMT-HCLO1-75K

Terminal-H

Nameplate

+ 4
T T ﬁH HE
p
R s (O~
+ + +
R2 S2 T2
(@)
[ =
[+ +| rmj t,h
— o ]
E
4-Ginstalling hole .
Model A B c D E F G H
MT-HCLO1-75K 240 | 150 ] 226 ] 120] 136 | 233 | MB | M12

(6/38)

mFR-HCL21-75K

+Enlarged +Enlarged 8
view of view of o %
section A section B @ a
[ — e e g
H ) — |
5 2
s
101
NP | . NP 1501
N ] 11 ] Crimping terminal for
11 6-M12 screws
(100-M12)
\
1 “\.\
E J 1N\ e
T T [
d [ad] ¢ -
RIL1 s/L2] T3 oA
R2/ 52/ T2/ g ~
RED ER S ek I@_D:
L | -
. | Earth (ground) mgH::th
$ | L @ i terminal = .
_ 150+1 N J L (for M8 screw)
24052 % *\x 10942,
3 B
Within 240 < 1272
_ Within 150 |e3+255
\
\ 4-M8 hole

BCN-C21002-137A



[Reactor2: 200 V class]

mFR-HCL02-7.5K, 15K, 30K

mFR-HCL22-7.5K

-

N\ 4-M8 hole

1
1
1
1
]
]
|
)
|
A |
I | ] .
-
|
I r : ) Varnish removed area (front side)
VL MAX 140
1
- |
|
)
' I
. \ L e M g=ke |
|
‘ : v %
Ill 11 : E
1
1
W1 “\ D1 !
-—— ; T
5 . 4-@d D E @ ® ® . ‘ D
t 210415 110+1.5
| 235=25 \
Model Wl w |w|o|[Dp]|d E \ 4-M6 hole
FR-HCLO2-7. 5K 230 | 240 | 210 | 160 [ 110 7 |
1
FR-HCLO2-15K 270 260 230 170 120 7 : .FR'HCL22'15, 30K
FR-HCLO2-30K 320 340 310 180 130 10 \
Y
| ray
)
| O o | [ v | o || =
:KCTT % i 1 0 =l © Vamish removed area (front side)
1
! JelEEEE A MAX D
DL T (02)
. -
1
-1 ™
| TR I
:‘ o olltle ‘ % IL [
' ] m—| m— ]
! T
i 3
1 =
]
|
)
[ 1
[ e o ® q
vl W1£1.5 ' D1£15
' W2 A\
: \ 4-d hole
: Model w wi1 H D D1 D2 d
I [ FR-HCL22-15K 255 230 260 165 120 75 Mé
: FR-HCL22-30K 340 310 305 180 130 80 M3
|
1
mFR-HCLO02-55K  mFR-HCL22-55K
|
]
With terminal i |
block cover H u @ @ :
M12 |
\, s
e e !
= |
| | ‘ | - : pa Varnish removed area (front side)
r P R 8 5 L ' g MAX 280
I Pl I L 140
e = S e (120)
e wi N, o S| 1]:;\
‘ W | A4 280 ‘ : ‘ VJI | | | IH il \,J;
I | I/
i o [ ] @@l /
Model H H1 W W1 D D1 d ' ] ] S
! ©
FR-HCLO2-55K 470 240 430 270 360 240 10 | §
! =
1
]
' I I
A L R ; .
' \ 27015 I\ 240+1.5
1
]
]
|
)
1
1

(7/38)

BCN-C21002-137A



sMT-HCLO02-75K

Terminal-H Nameplate

/7

3

+ +
+II b +|!_W { IT }“
= - | =Tl
R3 s3 T3 (O
+ + +
R4 S4 T4
©
I1 s I, IT
! ] i O
L B 1 # f
| 5 o |
A
E
4-Ginstalling hole
F
Model A B c| D E F| GI|H
MT-HCL02-75K 380 | 250 | 440 | 170 | 220 | 300 | M12| M12

(8/38)

mFR-HCL22-75K

(==

s

Varnish removed area (front side)

MAX 280
{190)
S B
o o =Bl
i I ] I ] T
dz | dB | diE (Cam—
g
Z
=
Bp | Elb | Blp Cam—
I I 1 I 1 I
[3) [} [} F
| 4302 | 1302 |
470+4 4-M12 hole

BCN-C21002-137A



[Outside Box: 200 V class]

mFR-HCB-7.5K, 15K, 30K, 55K mFR-HCB2-7.5K, 15K

1
1
1
1
1
|
1
' 2-Ahole =)
1 /
: (% o | i)
Wiring hole : @ ®
~ 1
= 1
2-pear-shaped |
hole M6 :
' ”l 1 88
| @ @
[ U | !
@ 1
1
1
! o o L]
| [ fir— -
| I | 1 23]
Iz ! l"l‘k 130 ™~ ) 165
: ] 190 . Rating plate
1
1
Pear-shaped : Type Arhole
Rating i} hole details h ﬁ dimensions
@ @o o) | | plate il Te | R 7
(=i e 4 ‘ . i
b - PI=
7l N Jts ! =
wi 23 NEN !
v S | R I
g ) 160
1
H H1 W W1 D !
Model ' @sFR-HCB2-30K, 55K
FR-HCB-7. 5K ! —
320 | 305 19 | 130 | 165 | Z-Ahole )
FR-HCB-15K . = = i
FR-HCB-30K | . »
450 435 270 200 203 1
FR-HCB-55K :
1
1
1
: wnl o
™| W0
! | <
1
1
1
|
1
! . . L]
1 B i) - /
: 7 _.JI_. w00 ~ 23 |
i 270 ) Rating plate 203 =
1
! Type A hole
: dimensions
| @ o e
- ﬁl gzl
! PR =]
1
1 = 131
v 240
1
|
1
mMT-HCB-75K » mFR-HCB2-75K
1 —_
| 3-Ahole ] 4-¢16 hole
Wiring hole | i ) H—
(top/bottom) 1 * *
— | :
\ |
1
3-pear-shaped ! oo
hole M12 Y ' S
—_—
¥ % o3+ |
= 1
) L |
1
Pear-shaped : F 3 ”' ) l:l =
i . hole :etalls ! T_JL- - s o . Zi.l._
x T _L : 400 Rating plate / 250
! . .
10 !
1
340
) -i ! Type A hole
Rating I—l ' dimensions
o o] plate - 13 h
1 - o | 7
L o
lﬂ o : ﬂ%" ® - :to
11wt 23l X ’Eﬂ L
W ! = e
: 3 13
1
1
Model w H D Wi | H1 X
1
MT-HCB-75K 400 | 450 | 480 | 175 | 428 !
1
1

(9/38) BCN-C21002-137A



[High power factor converter: 400 V class]
mFR-HC-H7.5K
2-¢6 hole
a’f
*Parameter [ H—F g —
unit installa- T
tion position -__ ’
88 ’
— S, [=
a1 23
195 I ~ —
220 190
- ] _— Protective bush
| <
210
mFR-HC-H15K
2-910 hole
* Parameter q‘l,_ L= 1 I
unit installa- —
tien position =
\\\
— 3| 8
| )
H H 1
1wl o _.| §
230 A 190
250
242
mFR-HC-H30K, H55K
2-9C hole
/S 2
© +H— |
© ol
= o
| e— |
* Parameter HHHHH
Hon posion | ]
RN gz =
11000 jooono
[10on joooo0
]
f ' e
C :
W2 _"”"_ 2 D .
W
[ TLIOI] &
W1
Model Wi Wi|W2| H |HI|H2|H3| D |D1]| C
FR-HC-H30K 340|324 (270 | 550|530 | 510 10 (195( 78 | 10
FR-HC-H55K 480|464 (410|700 | 675|645 15 (250(130| 12

(10/38)

mFR-HC2-H7.5K, H15K

2-46 hole

2,
+ o, + I
o] i
— i, m—
wl o
[ 1 ]
e ]
15 i} l:l i
6| | |
T _ 10
i 220 ) Rating plate 190
8 i
8 RS
‘l _/ ‘I -
—l
211
mFR-HC2-H30K
2-920 hole 2-¢10 hole
—_ 298 / ¢,_ (102) 93
@\ g 2/ & - i >
NG - —
c3 Eio3 ]
- " LFAN. |
Eyebolt: 2-M8=+ N
- mo o, .
-
[
nm =
% - %% LU
. . -
e i
ML e s2]
270 == Rating plate 195
325
280 + The eyebolt is enclosed with the
product. Use it as required
S]] i, it liel]
- 8o o ° ce
™ p —_—
T L I ]

BCN-C21002-137A



mFR-HC2-H55K

2-20 hole _ 338 2-610 hole (142) 100
g 300 & '
b TN | —) A
ST ST I ee— ol EAN ]
(NMIRTITRINTITIIND
[@ (D :: u]u]}:
[Ltnm I [mm °
) . . . — (NIRRT :: %: )
Refer to the outline dimension drawing N e 1 m
. IS mom .
on the previous page. E © Iom

- —~ : / 22
10 =} 250 T
e 300 N - Rating plate/ = =
_ 370 )
327

+ The eyebolt is enclosed with the
product. Use it as required

54

mMT-HC-H75K mFR-HC2-H75K
360 2920 hole 208 2-910 hole
25 |1, 139 " 19}55 = N 270 & (142) 100
ir exhaust ~ \ Al
N i 2 4018 2 A il I
2-10_ | i (Hangar hole) I hs - T 4
(Mounting hole) [Ty ofFAN]
: (™ ey | 'TIIID 1 .
- 2-M8= 0
o Eyebolt: 2-M8« O 1o T
U L 0 mm -
=} o i 0 mm
= MT-HC IS % — I mm
Accessory cover [] § § 5 m “”'g:
(Parameter unit. . 1 H:ﬂll o o
installation position) 10 OHHHH
R4 S4 T4 m . HHHH
T B N R L
/ EPN ﬁ
" e wo WM Air inlet N ™ ‘
- 0 / Mi0serews 10 e 32
{earth terminal) . 270 . Rat 250 _—
. 325 ating plate
Control cable inlet \
282
e ik + The eyebolt is enclosed with the
U product. Use it as required
: . SN
= Main cable inlst e @
% e o ° ° o o
(67kg} - n|/ ] ()
12 12
mMT-HC-H75K-S
= 480 = 2-010 (Mounting hale)
40 400 40

4016 (Hangar hole) _ Air exhaust

ST ee—

30

740
680
714

Q
3

T
@, L o
==

NP TH
i g M FSTRIATR 4
w0
- v . Exe=d G
S 1o TN L143 A
' a T 400 o 40 2Mi0screws Airinlet
(earth terminal)

Main cable inlet

!L 456 JI 12

8
°
o

(11/38) BCN-C21002-137A



aMT-HC-H110K mFR-HC2-H110K

380 2-625 hole 2-$25 hole

Control cable inlet (earth terminal) 380 |\ 4416 hole

- -
ICT Ty

Main cable inlet

{155kg)

12 656 12

1
1
1
1
! 436 2-412 hole 93 207
- 251,159 196 : F ! =
Air exhaust o
L4016 =
10 gl N(Hangm hole) ! 4
30101, ! NNOAN AT OARNANET) INARTARERY "
(Mounting hole) (0 ! Eyebolt: 2-M10+ oy | I M° oo o o
() : w s T ‘Il m -
Y | °F
MT-HC | < T (8 _
° Accessory cover D ! o “e ; .
5 (Parameter unit 2 2 ' ° i
- installation position) U | . ﬂ”ﬂ ”
' Il
| .
mmn ' : : 2=
| i
1 12 = 3.2
+ | 400 300 B
- h 465 Rating plate
ol 1/ o é ! 430
o ¥ i ?I 1 = + The eyeboltis enclosed with the
IF inlet ! LH H |] H H H I]:Lm product. Use it as required.
. /5.M10 screws '
Control cable inlet (earth terminal) ! . N
——— 1 o~
|
7D -
. |
= = Main cable inlet !
@ — 1
1
(15kg) |
|
12 474 12 !
|
|
1
mMT-HC-H110K-S !
1
= 480 = 2-810 (Mounting hole) |
40 400 40 !
4-616 (Hangar hole) Air exhaust |
=] © o |
L 3 i _ !
—_—— " — —|— |
1 1
1
|
|
|
|
o o e 1
28 = 1
1
1
0 |
i |
e Q I
¥ ] 1+ F T
) ¥ | |
IEATATATAT g .
- _ﬂ_‘ , s | sf [ o !
' o 143 ]
g o af T S |
40 400 40 2Mi0screws Airinlet 1
(earth terminal) |
|
1
120,, 7030 70,70, 70,50 & !
@ 1
ED = '
[ENTRSETETTRETE) B !
b3 N P Ra4aS4T4 1
+ - ~___Main cable inlet :
g +h ] !
1
| . '
¥ :
12] 456 NIRE |
T I
|
1
mMT-HC-H150K  mFR-HC2-H160K, H220K
1
380 ! 3912 hole 200 200 w @
251,159\ 196 _ ' 1 ~ =
_ @All e{(}haum 4-916 :
3-610 —1 (Hangar hole) h
(Mounting hole) L !
1
[ '
(000 \
MT-HC '
- Accessory cover D | w2 =
5 {Parameter unit installation | & 2 1 &= )
= position) | < b [] ! e s .
1 " " I *e o .
|
. : lil
. : Ll
R4 S84 Ta /—0— 1 )
i i i J 1 -
e - A
= — te] 2 Air inlet ! 3.2 ©
1 < —300 | |40 /o M10 screws ' 2 TN
' £z |
1
1
1
1
|
|
|
|
1
1
1
1
|
|
|
|
1
1

(12/38) BCN-C21002-137A



sMT-HC-H150K-S

3 210 (Mounting hole)

374 498
185 189 49 200 200 49 Air exhaust
r + 8 T + ’F s ™ 4016 (Hangar hok)
F‘ T _ﬁ% i _r
l
== b g
e &
" =34
273 80,40, 105
| A d =
P 1_'],}14 (30 VAL R 8 Y J
5 — = =SSR 7 @
8 1010 04 o 7 \ Airinlet
a9l 200 200 _lag| 40
\
\, 2-M10 screws (earth terminal)
208 70,70, 60 \
- U
i
R4} 844 T4 = K=,
N _B_g, =
&
Main cable inlet L ]
mMT-HC-H220K
700 440
w 25 |1 219 4 1% |
s " :g.mr e;‘haust 4016
. - & (Hangar hole)
3-012 | N B 1 |
(Mounting hole) | [ |
| i
| i
MT-HG U
- Accessory cover o o
2 {Parameter unit 5 &
- installation position) - - D
: |
| |
RassTs | pas
iz gz izl of Air inlet
80, |l 315 L 35 | l.sn
! 2-M20 SCrews
Control cable inlet (earth terminal)
VIR
=4 _Main cable inlet
(235kg)
12 768 12

3-010 (Mounting hole)

374 a0
185 189 awl, a0 w0 T
‘—T—. 3 [ | o Airexhaust 4216 (Hangar hole)
- k3 + '}
L 45
(=] + o
e 3
* s + 4
°
N, p R4 sS4 T4 | 2
E o] eol: § "j&l 8”7‘
(=3 r3 I : .
o 10 10 10, ot b1l || o
T4 300 300 40~ Foyge|  Airinle
1 ! i \
— TQLF * SQTMTBO’ ' 2:M10 Screws (earth terminal)
oF
A NP e
R4 {54 hat

Main cable inlet ”U ﬁ:‘u

(13/38)

Refer to the outline dimension drawing

on the previous page.

BCN-C21002-137A



sMT-HC-H375K-S

»  Eybolt M1©

e 1 1

Air exhaust
&

1500
=

Air inlet [}y

250 1001001001100
- raAP AP AP Ar<

1000

P N R3 S3 13

Xl

Yy v
252 58
-« > >
o 50 1
h 4
o
A
. v
8|
Main cable inlet .~
\ 4
o
A
& 120
<>

860

»
50
<
Sy
£ A
b
= Y
T oA

- ¢ 1¢(Mounting hole)

(14/38)

mFR-HC2-H400K

3-012 hole 315 315 2-924 hole
) —
= ) 498
10 P SR 1 =)
" —_— '— —' —
— — I —
—— ——
o o
S =4
foes ™
e ; : ]
3 |
|
ToT 3 o) v
2 12
315 315
790
_ 685
3| FErEEE
3
=)
] — [+] [+] | —

222
185

FAN

1=

45

440

BCN-C21002-137A



[Reactorl: 400 V class]

mFR-HCLO1-H7.5K, H15K, H30K, H55K

[

J

il

JENRTENN

:

S
\4-gd 0

Model H W W1 D D1 d
FR-HCLO1-H7. 5K 150 | 160 | 145 | 100 65 5
FR-HCLO1-H15K 195 | 190 | 170 | 130 80 6
FR-HCLO1-H30K 215 | 220 | 200 | 140 90 6
FR-HCLO1-H55K 255 280 255 190 112 8

mFR-HCL21-H7.5K

\ 4-M6 hole

90°%

EC I M )

Within 55

L e J

o Fel o] o A==/
g

130+ 2

mFR-HCL21-H15K

_ 98+2

Varnish removed area (front/rear side)

1, 4-M6 hole

Within 65,

lo Rl

(]

Within 170

| 1602 \

® ¢ @ 2&

12412

mFR-HCL21-H30K

75+0.5
7%

g

Vamish removed area (front/rear side)

4-M8 hole

VYN

EIE]
+®E
=

RALT

=
<

BlE]
ISle)
SL2[ls2/
L2

[x]
1]
1 sz_

90°%

 Within 95

(15/38)

N B —
@ FE] g | g
|
s |
s | 5
18052 N\ ! 992

Varnish removed area (front/rear side)

BCN-C21002-137A



mFR-HCL21-H55K

1
1
1
: 255£1.5
! 8+0.5
| [ amende
1 el
1
| . ] “
1 | -
\ 4
! o
1 —— =
! 5
. . : . ' i
Refer to the OUtIIne dlmenS|0n draWIng : Varnish removed area(fmnt]rearside)/l@ Within 70 _ Within 95 _
on the previous page. !
B 7
1
® ))
! i
1 =
: © r=o q |
I
: | 2 |
o~
! | £ |
! =
1 | |
: | |
! I 1 [ I -
: @ @ O N , ﬁ]lr | pﬁ ,
' 28025 " _ 131425
|
|
mMT-HCLO1-H75K(-S) ' mFR-HCL21-H75K
ol = e = +Enlarged +*Enlarged
Terminal-H ~ Nameplate ! ) Z ~ view%f wew%f
‘ i77 / : ‘ ‘ ‘ section A section B
+ + ) i
I T N3 %H HE | ‘Ri}ungp‘afe
F7aN | —
R |s T O [T TR T ﬁj ‘
+ + = =f
R2 S2 T2 : H - i 7g+1 g Approx. 20
° ! _l _l ] J 171
' .
: Crimping terminal for
L J I : 8-M10 screws
®0-M10) ST
** 118 R SR T (=8
] B ' K SEPEN :
; —o Bk R
4-Ginstalling hole, : 612:; S_%é [5’% \% = Ear%gr(r%m;‘na)
F : i 1 (for M8 screw) '“ I I
e R 1= 20
| “. Bl ]
Model AlB|C|D|E|F|G|[H]| ! st S| B qobe
ricee A 1272
MT-HCLO1-H75K | 330 | 150 | 285 | 185 | 216 | 318 | M10| M10| Within 210 | Within 145|625
X | 4-M8 hole S
Model A|lB C|D E F g | .H :
)
MT-HCLO1-HY5K-S 240|150 | 215 | 120 | 136 | 223 { MB | MiD i
1
]
mMT-HCLO1-H110K(-S) ' mFR-HCL21-H110K
| —
Terminal-H ~ Nameplate R T i +Enlarged +Enlarged
‘ R / 7 ! view of view of
‘Jr 7| _/M X Rafing plate section A sectionB 2
| o 3
e ITE i /;< : % = 8 g
R s T O v | g 8
+ + 1
R2 s2 | ] B 2 = B
! =T m
| 15041 8
! Appm'_
L ) ! <
e e i |
+ + '
! ! ﬂ:HEm : Crimping terminal for
| B ‘ b | 1 6-M12 screws
A £ | (100-M12) I =
4-Ginstalling hole | ‘ % ?} ‘ Bl mﬂj
: 4 o G
1 |[RL SIL2 =
|
Mode AlB|lc|D|E|F|G]|H I 1 ] R
1 i g
MT-HCLO1-H110K | 390 | 150 [ 340 [ 195 | 235 | 368 | M12[ M12. . i L) & T
1 P ] Approx. 9 .f
Model alB|lc|D|E|[F| e | H : . ® .. g:@H::H@:
! _150=1 - T~B "esg 99
7/ i s
MT-HCLO1-H110K-5 {270 ) 150 | 255 [ 130 162 l246 | ms | Mmio | 240+2 / J\ Earth (ground) k A
ithi / \_{for M8 . —L£
: Within 24?, \_(for screw) N J\Nithin
) / ~ Within 155 | 65 _
! 4-M8 hole /
1
1

(16/38)

BCN-C21002-137A




aMT-HCLO1-H150K(-S)

Terminal-H

Name?lale

1
1
1
1
:
|
B : ;j r :
(II h—(ri S S — P |
v |
R s T (O |
+ + + :
R2 S2 T2 )
o )
1
:
1
11 e ey e | |
|+ Jr‘ dﬁiﬂ:ﬁ :
I | 57 | :
A —L2 :
1
4-Ginstalling hole !
F !
)
1
Model | A|B|C|D|E|F|G|[H]| |
MT-HCLO1-HI50K | 455 | 200 | 397 | 200G | 240 | 380 | M12| M12 E
|
Model A BT ciD E ¥ G |.H !
1
1
MT-HCLO1-HI5CK-S | 330 | 150 { 275 } 130 | 162 | 266 | M10 | MI12 :
]
|
maMT-HCLO1-H220K(-S) ;
Terminal-H  Nameplate :
[ ] :
[ : /E :E |
{II h—{ri T p |
1
R s T (O |
+ + + !
R2 S2 T2 X
o ]
|
|
1
1 Py e |
|+ +‘ @H:ﬁ :
I | 5 | :
A —2 | !
1
4-Ginstalling hole |
F 1
]
]
|
Model | A|[B|C|DJ|E|F|G|H|
MT-HCLO1-H220K | 495 | 200 | 405 | 250 | 300 | 420 | M12 | M12 i
]
Model AlB[{C|D E ¥ G |.H '
|
MT-HCLO1-H220K-S | 330 150 | 292 | 185 | 216 |31B| MI10 | Mi2 :
1
|
|
mMT-HCLO1-H375K-S ;
640:£10 |
90 .90 .90 90 | 90 4412 suspension bolt I » :
e e e e, —————— %
. |
o i |
% 4 o Py i I
i | Tt |
‘:FHR R S\ ,f’ i H :
+ + L+ +, * o| gterminal ,” :
H msath\ed h
R, S, Tside =
0 “ :
Earth (ground) terminal :
+Te +T e P (for M8 screw) h
==L 300 _[=.=‘* %v s X
400 M 430 !
1
1
1
]
]
|
)
1
1
1
1
]
]
|
)
1
1
1
1
]
]
|
)
1
1

(17/38)

Rating plale/ ‘

mFR-HCL21-H160K

4-oval-shaped hole 1018 for M8 screw

150 £1

|

B
7

150+

N

% %
 — T T 1
1 3] A &~
) ) b £
Ra/Li2 ‘szuz g
e
s oEl ol | |
i
220+ 2 E?rth (ground)
. terminal
Within 280 (for M8 screw)

Crimping terminal for M12 screws
\ 4-020 hole

// ) 176£3
Within 185 }

mFR-HCL21-H220K

Crimping terminal for M12 screws
\ 4-024 hole

170 £1 4-oval-shaped hole 12 22 for M10 screw
|
e TE " en
‘ il s
| .
s ( s
| N ™
RN T3 3
_ £
[reizl|| [sazzl|| [mrez) 2
N ™
21| N Onm
I
@ & [ 4 [ |
= 270+2 = © Earth (ground)
terminal
Within 330 (for M8 screw)

_ 17823
Within 200

mFR-HCL21-H400K

= \
4 \_4-Installation hole _
= (12x 22 oval-shaped hole)
For M10 bolt
AL
Il B )
Enlarged N
drawing of 250 +1
section A

3005 4-M10 eyebolt f:;rmMsw;Dn‘:n
_ 1805 / /
%f R S, Tside / R2, S2, T2 side
o) ol /1 1
M1 RU2 2 S?m’ﬂ T T2 ] T7
IR e .
C St *
R e 2 &_l_
g
g
Earln[g_rwm) 18 B
orwg ey ||| | 40
Within | = 305 £10 =l | Within
100 _ 010 | 100

BCN-C21002-137A



[Reactor2: 400 V class]

mFR-HCLO02-H7.5K, H15K, H30K, H55K

A

4-@d
-« [

Model H W W1 D D1 d
FR-HCLOZ-H7.5K | 220 | 240 | 210 | 160 | 110 | 7
FR-HCLO2-H15K 260 | 260 | 230 | 170 | 120 | 7
FR-HCLO2-H30K 310 | 340 | 310 | 180 | 130 | 10
FR-HCLO2-H55K 380 | 400 | 270 | 285 | 240 | 10

mFR-HCL22-H7.5K

21015

‘ 4-M6 hole

8140.5

v

Lol

110+1.5

T
11

Varnish removed area (front)rear side)

25

o = $

]_
|
il 2

—

]

MAX 70, MAX 70

MAX 220

235+£2.5

mFR-HCL22-H15K

230+15

4-M6 hole

~

il

L
129425

® ®
FRas s [T ]
N 1aL sz fuaslLzd

IS

120415

h
fitt

Vamish removed area (frc;ntfrear side) (25)

MAX 75 _

7
. [ f
= o 41 p
I  E—  E— o 4
| g !
*x
<
=
I 5 ® N—J
Lo y
= b,
255125 ) 140+2.5 N
mFR-HCL22-H30K
310+1.5 .
| 10+0.5
4-M8 hole Sl
0
3
_MAX 80 _MAX1DO1
e /
g |
@
bt
<
=
I 1 ™
[©] © m” ﬂ | E«
340+25 B ! . 153425

(18/38)

BCN-C21002-137A



Refer to the outline dimension drawing
on the previous page.

mMT-HCLO2-H75K(-S)

mFR-HCL22-H55K

360+1.5

[ aMshole

R |
[0

| [rar] [
24| L3 JL3d|

@

32

MAX 365

MAX 90 MAX 110

B

390%2.5

mFR-HCL22-H75K

_ 180£25

1
1
1
1
]
]
|
)
1
1
1
1
]
]
|
)
1
1
1
1
]
]
|
)
1
1
1
1
]
]
|
)
1
1
1
1
]
]
|
)
1
1
1
1
]
]
:
1
Terminal-H Nameplate : ) &
7 47 ) &N
. — / '
T +
e iy :
+ + + N :
R3 s3 T3 (O X
+ + + 1
R4 S4 T4 !
&)
' MAX 280
' MAX 430 (160)
L J 1
| —— — 1 =3 ;
' — ' (==
‘ B / | D ‘ : S37 T3/
A h L13 23 L33 e
E 1 ®
4-Ginstalling hole ! 2
F | E 2 | B
' I: il F G
Model | AalB|c|o|Ee|F|la|ln| | fo & o { |
MT-HCLO2-H75K | 455 | 200 | 435 | 200 | 240 | 340 | M12 [ M10 | ‘ ‘ \ (Recommended
; : ! 265115 4-M10 ($12:£0.5) hole installaton 200)
Model A{(B|C|D E F &3 H ! 20015
)
1
MT-HCLO2-H75K-S | 455 | 200 {435 | 200 | 240 [340 | M12 | Mi0 !
1
]
mMT-HCL02-H110K(-S) ' mFR-HCL22-H110K
Terminal-H Nameplate N [+]
_ / 1 Tay o
\+ = / . : {
= A |
+ + + 7\ :
R3 S3 T3 O ] ES 7]
+ + + | e 1] .
R4 s4 T4 ! MFH ‘{E{%ng
o]
| (5'_0') Vamish removed area (front side)
: MAX 370
L ) : MAX 500 (215)
- 1| A == 1r
L 1 r 1
| B/ o | Lo i i @
A c ! g
4-Ginstalling hole ' %
: ! 2|
1
! I s I [(m—]
Model | A B|C|D|E|F|G]|H .‘{@ }‘ ﬂﬂiﬁﬂ
. . C
MT-HCL02-H110K | 510 | 350 | 580 | 335 | 395 | 455 | M12 | M12 ! & = =
- ; ! 35015 \4-M10 (¢120.5) hole [
Model A[BIC|D E F G H : 260:41.5
]
|
MT-HCL02-H110K-§ | 510|350 | 580 | 335 | 395 | 456 | M12 | M12 :
1
1
1
]
]
|
)
1
1

(19/38)

BCN-C21002-137A



aMT-HCLO02-H150K(-S)

Terminal-H

(O~

Nameflate

£

R3 S3 T3
+ + +
R4 S4 T4
&}
| ‘ 5 i+
A D |
E
4-Ginstalling hole .
Model A B C D E F G H
MT-HCLO2-H150K | 570 | 400 | 600 | 385 | 445 | 505 | M12 [ M12
Model A{Blc|D ﬂ Flael|m
MT-HCL02-H150K-5S | 570 | 400 | 600 | 390 | 450 |510 | M12 | MI12
mMT-HCL02-H220K(-S)
Terminal-H Nameplate
+ + +
R3 s3 T3 f@j
+ + +
R4 S4 T4
(&)
Sme—" U R I
; | 5 |
A l—2 |
E
4-Ginstalling hole
F
Model A B C D E F G H
MT-HCLO2-H220K | 630 | 400 | 665 | 445 | 505 | 565 | M12 | M12
( Model A(Blc|D|E|F[G|®H
MT-HCL02-H220K-S | 630 | 400 | 665 | 445 | 505 | 565 | M12 | MI2
mMT-HCL02-H375K-S
R 725410 .
100 | 100 | 100 ; 100 | 100 4-M16 suspension
O ».6» fim X
’ %

¥
8
Mo
I 1 | 1
Al ol B 23 Bl a0
-

g 8

-
+ +
- + - +* - 2 F‘
hd | g-terminal
2| oiehole
R, S, T side|
=
s
* . o e 3 2
+ +
+ v

=3 Earth (ground) terminal
(for M8 screw)

o)
v
]
“ » le
-
" 4-Installation hole

For M12 bolt

b
505
57510

mFR-HCL22-H160K, H220K

& L4
j’L' Y
i o= o L -/1
¢ +J] &
I(75))f, Vamish removed area MAX D
(front side) MAX D2
‘ o @ -] ‘
I 1
[ —
[E] s3/ T3 T
L13 L23 L33 <
<
R4/ sS4 Tal =
L14 (24 L34
3 —
[T T 1
L] e =
S ¥
¥
+. (Recommended
400-15 4-M12 ($15+0.5) hole installation D1)
MAX W D1+1.5
Model w H H1 D D1 D2 G
FR-HCL22-H160K 560 520 6 430 290 255 52
FR-HCL22-H220K 620 620 9 480 320 290 50
mFR-HCL22-H400K
4-M12 eyebolt 2-¢15 hole
;’EE = g / for M12 screw
+ Jor M2 screw.
10055 - R3, 83, T3 side / R4, 54, T4 side
® - S
7 o rrz; /L
L REW S¥H N * . —F T
1] 10 s [l opglgne
EXIN L

Within 675

|

Enlarged
drawing of
secfion A

(20/38)

ol

Earth (ground)
terminal
(for M8 screw)

Within
100

Within

\ 4-Instalaton hole
(15-25 oval-shaped hole)
For M12 bolt

175
_ 435410
495:£10

_100

BCN-C21002-137A



[Outside Box: 400 V class]

mFR-HCB-H7.5K, H15K, H30K, H55K mFR-HCB2-H7.5K, H15K, H30K

1
1
1
1
|
|
| 2ol — 10 &
i 1 E
| B ol K
] Ll ®
Wiring hole |
—] )
= |
2-pear-shaped :
hole M6 - | ol o
7 : g 8
[ B | |
® |
1
1
: . . N
: it e 23 |
? T =l
Iz : == 130 - Rating plate . 165 -
| lL;J =
: ) 190 -
1 Type A hole
Pear—shap_ed ] T dimensions
Rating 0 hole;!et,al\s : 7
o ®o ® q Lelte b — g
e L HQ[ .
~ Ji s V-
l’H‘_ w1 5 2_3..4_ m : I An
W 13| |
E P <l
Model H H1 W n D i aFR-HCB2-H55K
1
FR-HCB-H7. 5K ! 2Amle [0 g
| ; —
FR-HCB-H15K 30 | 305 | 190 | 130 | 65 | = = "
i
FR-HCB-H30K |
1
FR-HCB-H55K 450 435 270 200 203 '
: wn o
! g %
|
1
|
|
|
! . . [ ]
BN i N 234
| . 200 3 Rating plate i, 203 ,
: 270
|
: 'y Type A hole
! dimensions
1 == i [ "
| ﬁ . = j
| L 2
| - g B ¥
| ™ -
e i |
' L 240 | o
|
mMT-HCB-H75K(-S), H110K(-S), H150K(-S), H220K(-S): mFR-HCB2-H75K
! 2-Ahole 250 &
Wiring hole (Top and Bottom) : " ‘ o
P ! % 5 |
= : Protective cover ! M ®
[ |==] j |
3-obling hole M6 ————— N :
% & BI1 | 8 3
© qd | ™| ™
|
Details ofaob\ing hole : I:l
ok '
“‘ L : ?ﬂ uﬁ s} ‘\\
j:rlj;,im ! 7 H = \ 23]
Rating ‘_ _‘ : 250 _ "‘\. 250
‘O L g Plae L 13 h 200 |
j?\« e _TL07 _1‘ : ) "!Rating plate
Wi W1 - 23 !
o I
|
Model W] H]D]|w]H ! dmensions
MT-HCB-H75K 300 | 350 | 320 | 125 | 328 : <+
MT-HCB-H110K 350 | 450 | 480 | 125 | 428 &8s .
MT-HCB-H150K 400 | 450 | 480 | 175 | 428 ' N ©
MT-HCB-H220K 550 | 500 | 500 | 250 | 478 ' -
Model W | H | D |wW1|Hl : 0
[N} 270
MT-HCB-H75K-8 300 | 350 { 320 | 125 | 328 :
MT-HCB-H110K-58 350 | 450 | 480 | 125 | 428 :
MT-HCB-H150K-S 400 | 450 | 480 | 175 | 428 :
MT-HCB-H220K-S | 550 |500( 500 | 250 | 478 |
. 1
1

(21/38) BCN-C21002-137A



mFR-HCB2-H110K

3-Ahole
o 4-916 hole
3 3 #—f )
w2
[
| ¥
. . L1
—Ir e ! / d
=f
7 - 23
125 350 125 Rating plate, / 380 i
Type A hole
FEL,E dimensions
7
iz -
3 5 i
[P
L R 3

;

Refer to the outline dimension drawing
on the previous page.

mFR-HCB2-H160K, H220K

3-A hole 175 ‘ 175 ‘ ™ 4-¢16 hole S
& ] st |
O O
o
8% =
< =
¥ 1 l:l T
JLJ of Rating platej ZBJ o
__i75 | 115 - 0[] 7
400 440
= Type A hole
dimensions
]
ParwmmimgF e
) &|
J‘ﬁ i
o
88
~|
| I
1

(22/38) BCN-C21002-137A



2. CONNECTION

The terminal names are basically the same. Connect the terminals according to their names.
For the details of the connection to the FR-HC2 compatible terminals which are not given in the following

table (marked with a diagonal line), refer to the remarks.

FR-HC/MT-HC(-S)

FR-HC2

Type terminal name compatible terminal name Remarks
R, ST R/L1, S/L2, T/L3
R4, S4, T4 R4/L14, S4/1.24, T4/L34
P Do not use the terminal R1
Main circuit R1, S1 RUL1L, S1/L21 and S1 of the FR-HC.
P, N P/+, N/-
D T
88R (MC1) *See output signal side. For the FR-HC, the terminal
names are given in
parentheses.
88S (MC2) For the FR-HC2, use output
signal terminal.
RES RES
Control circuit/ | SOF SOF
input signal ROH The FR-HC and MT-HC(-S)
do not have a terminal ROH.
X1 X1
X2 X2
SD SD
PC The FR-HC and MT-HC(-S)
) do not have a terminal PC.
High A.B,C A.B,C
power *See input signal si 88R For the FR-HC and
factor Contact MT-HC(-S), use input signal
converter 885 terminal.
RDY RDY
CVO CVO
Instead of terminal OL,
assign the function of OL
oL signal (overload alarm) in the
terminal RSO, CVO, Y1 to
- Y3, or ABC of the FR-HC2.
Control circuit/ Open 7 v
output signal | collector The MT-HC(-S) does not
Y2 Y2 \
have a terminal Y2.
RSO RSO
SE SE
Y3 The FR-HC and MT-HC(-S)
SE2 do not have terminal Y3 and
SE2.
Pulse | FM FM
AM The FR-HC and MT-HC(-S)
Analog 5 do not have terminal AM and
5.
RS-485 communication is
Communication | RS-485 PU connector not available on the FR-HC
and MT-HC(-S).
R, S, T R, ST
Reactorl Main circuit AR, S2, T2 RR, S2, T2
& &
R3, S3,T3 R3, S3,T3
Reactor2 Main circuit RA, S4, T4 Rey S4, T4
N4 N4
R2,S2,T2 R2,S2, T2
Main circuit RB) S3, T3 KB)S3, T3
Outside 88R (MC1) 88R
box Control 88S (MC2) 88S
Circuit/ The FR-HC and MT-HC(-S)
Contact )
Output RS do not have terminal R and
signal ' S. (Connection is not
required.)

BCN-C21002-137A



Main circuit terminal layout

The following shows the main circuit terminal layouts of the FR-HC/MT-HC(-S) series and the FR-HC2
series.

The main circuit terminal layout and the position of the earth (ground) terminal may differ depending on
the capacity. Check the terminal names and positions before performing wiring.

When the cable used for the FR-HC/MT-HC(-S) series is too short for the FR-HC2 series, prepare the
longer one.

The terminal screw size may differ depending on the capacity. Check the terminal screw size before
performing wiring.

[High power factor converter: 200 V class]

mFR-HC-7.5K

- Screw size
Control circuit

M4
terminal block R1S1
\

‘R|S | T ‘R4‘S4‘T4|

mFR-HC2-7.5K

Charge lamp

* *
RULASIC] _ [N-]

MC1|MC2 i |
Screw size @ N|P Charge lamp (yellow) @ @) “Jele @@ﬂ
== = ——
M4 Screw size (M5) @'@'@ 8 @ .E.J.i'@!“
® [Re/ ﬁ‘m
A 1 il - |L14] (24 4
| ©
L el i
Screw size TR
(M5)
N
Power supply Reactor 2 Inverter
*= Screw size for terminals R1/L11 and S1/L21 is M4.
mFR-HC-15K mFR-HC2-15K
Screw size Charge lamp  Screw size (M4)

-f“| . .
Control circuit
terminal block

f

e ©
11

Charge lamp
(yellow)

Screw size (M6) F

@@@@
RiL1) sz jrLs] ] R

Screw size M6

R| S| T|R4|54|T4 N(NC)P‘

Screw size M3.5

]
—]

=5

(M86)
® 1 me | (ney| mc2

*Terminals MC1, MC2 are located under the terminal @—:j
symbol cover. Connect terminals MC1, MC2 after 2L @
removing the terminal symbol cover. Scr(en"',l"fg'ze
N
Power supply Reactor 2 Inverter

(24/38) BCN-C21002-137A



mFR-HC-30K

Screw size
Control circuit M4
terminal block
o
T Charge lamp
(yellow)
‘R|S|T| ‘MC1|(NC)‘MC2‘ |R4‘S4‘T4| ‘N‘(NC)’P|

Screw size M4

(M6)
S

mFR-HC-55K

Control circuit
terminal block

B

Screw size M3.5

Screw size M8

Screw size
M4

0\ Charge lamp

(yellow)

|R|S|T‘ ‘MC1|(NC)‘MC

2‘ |R4‘S4|T4‘ N|(NC)|P|

Screw size M4 Screw size M3.5

(M8)
S,

mMT-HC-75K

Screw size M12

P Terminal details

57
25

& ’ ¢ 15hole
(H12x35 balt)

l
|
|
|
|
i
i

R4/54/T4 Tarminal details

¢ | 5 hole
Q/mmn)
&)
25|
50 I
e e e B e ]

_____________h______________
- |
|
|
|
]
|
1
|
|
|
I
|
I
|
|

N Terminal datails

57
5
¢ 15hole

(M12X35 bolt- HF>@

25

T X 17 Terminal detalls (TX-9x 1 3UF)

Wiring in the unit

| o~

L
2
[}

Refer to the outline dimension drawing

for terminal layout.

mFR-HC2-30K

Screw size (M4)

N Charge lamp
Screw size Screw size Screw size
(M4) (M8) (M10)
; Jjeefe
g |© ==
C @ \QHQI
HEH @ ([Ra] sy {1, [N-]1[PH]
it 7 511 [;L 1 ]@ [N-J2[PF=])
j==i =
L WL Screw SQFEW
size size
(M8) r (M6)
=)
=~
Power Reactor 2 Inverter
supply
mFR-HC2-55K

Screw size (M4)

™~ Charge lamp
@
]
Screw size Screw size Screw size
(M12) (M4) (M12)
il o | ‘ ‘III €
Nl =1 o @
olele
T4/] 12 @ [Pr+[®
L34 =
g
Screw size
] e )
Reactor 2  Power supply Inverter
mFR-HC2-75K
Screw size (M4)
RALHHSTA)
\Charge lamp
L ]
—
I
] Screw size Screw size Screw size
(M4} (M12) (M12)
- f R4/ .Ll I ————
® L14 L24
@ )] ®
E B B yn |
3 1( 2
=/
Screw size -
(M10) _I r
Power supply Reactor 2 Inverter

(25/38)

BCN-C21002-137A



[High power factor converter: 400 V class]

mFR-HC-H7.5K

- Screw size

M4

Control circuit
terminal block

R|s|T|RasqT4
@ N P|MCWMC2

Screw size
M4
@
mFR-HC-H15K
Screw size
-
Control circuit
terminal block
Screw size M6
R| S| T|R4|S4 T4 N<NC)P‘
(M6) Screw size M3.5
[ONFE mc1 | (NC)| mc2

*Terminals MC1,
symbol cover.
removing the terminal symbol cover.

m FR-HC-H30K

Screw size
M4

Control circuit
terminal block

B

Charge lamp (yellow)

MC2 are located under the terminal
Connect terminals MC1,

MC2 after

O\ Charge lamp

(yellow)

Charge lamp |

]

— Screw size

(M5)

mFR-HC2-H7.5K, H15K

B
B

[©

I@\@\

| RACHISI2A]

3”‘ Screw size

(M4)

HE =
L14|[L24 | L34
QIPING

Charge lamp
(yellow)

‘R|S|T| MC1| (NC)| M2

|R4‘S4‘T4| ‘ N

(NC)

d

Screw size M5 Screw size M3.5

(M8)
© O

Screw size M6

I.I

Reactor 2

mFR-HC2-H30K

Screw size (M4)

Inverter

Power supply

Charge lamp

' &l
BE -~
| —
[
L ®
T

@ o @
s !

| Screw size (M4)

Power supply

(26/38)

Screw size (M6) =

Reactor 2

Inverter

BCN-C21002-137A



mFR-HC-H55K

Control circuit
terminal block

Screw size

M4

R1s1 ©
.. TT— Charge lamp
(yellow)
lsl v [wlocie] [wdsfre] [W[o] )
Screw size M5 Screw size M3.5 Screw size M8
(M8)
@
mMT-HC-H75K
P Terminal details N Tarminal details
’ 39 39
19. 5 9.5 19. § 19. 5
<D =
12 hole ¢ 12 hole
(M10x 30 bolt) (M10x30bolt)

R4/S54/T4 Terminal details

¢ 12 hole

" T X 1" Terminal details (TX-2 % 1 3UF)

Wiring in the unit

S N
FEREEEE

Shchchichd
M3. 5 SCrew

D i o v et |

Refer to the outline dimension drawing

for terminal layout.

mMT-HC-H75K-S

T

R4,54,T4,N i

Terminal details |

|

1

= HJ| |
o

& — |

© 26! 012 i

i

1

Terminal details

o 2012
o ':7? {;
(8N} u U
ol [26/30]26
82
M % ~ Screw size
ORI
M10 MO |M3. 5

Refer to the outline dimension drawing

for terminal layout.

mFR-HC2-H55K

Screw size

(M4)

Y

Screw size
(M4)

[CURES]

Screw size (M8

Power supply

mFR-HC2-H75K

Reactor 2

Inverter

Screw size (M4)

Screw size (M10)

Charge lamp

Screw size (M10)

aliliell=

3]

+¢u¢= alle

FETE
3 O]

&
L1

Reactor 2

(27/38)

= D T
1 € e B
Screw size | Screw size
-I r (M10) 1 )
{ ,,x\_; )
>

Power supply

BCN-C21002-137A

Inverter




aMT-HC-H110K

73

T

P Terminal details

50
13
|

g

¢ 12 hole

~J

(M10%30bolt)

N Terminal details

50
9
¢ 12 hole i

(M10x30: bolt) >

20

64

R4/54/T4 %FH#AR

20

¢ 15 hole
(M12x35 bolt)i
37

" TX 17 Terminal detais (TX-9 X { 3UF)

RIEE

3]

Wiring in the unit

Refer to the outline dimension drawing

for terminal layout.

sMT-HC-H110K-S

T
!
R4,54.T4N Terminal details ! Terminal details
|
! o~ 2-612
= W\ | o "77T {;
& —_— | Nl ] i
=l |26 212 ! of |26/30/26
! 82
|
i
A =~ =1
Control Terminal details
%" CRCICEON 2% Screw size
R4, S4.T4
N. P @ ™
7777777 = MLD M0 M3.5

Refer to the outline dlmen3|0n drawing

for terminal layout.

sMT-HC-H150K

P Terminal details

[ |

|' 57 i 57
B | -

1 i ¢ 1Shole I 0
! J}——r ' (M12x35 bolt)HP>G By
! & ¢ 15 hole 2

! (M12x 35bolt) | e

l

R4/54/T 4 Terminal details

¢ 15 hole

(M12x 35 bolt)
"
<F

N Terminal details

TXl Terminal details (T - 2% 130F)

Wiring in the unit

Refer to the outline dimension drawing

-_-________-.____L_____.__*______

mFR-HC2-H110K

Screw size (M4)

for terminal layout.

(28/38)

Charge lamp
L]
Scra‘j’l\’:)ize Screw size Screw size
@1‘ (M10) ‘Pﬁ (M10) H
9] ollg)
S4/ |® T4l @
L4E L34 k2
® [
[l N==)
|
Power supply Reactor 2 Inverter
mFR-HC2-H160K, H220K
L Screw size (M4)
E‘ \ Charge lamp
A &
£
b
@ )
{@ 4
Screw size Screw size
(M4) _ —  (M12)
I e
of le| lol leo| |elo
) -] e B0y L] ff_
— of @
| Screw Screw | M
rat| [sar]  [mar ool dio)
L14] |L24 NJ-
\ ;\\: )
-

Power supply Reactor 2

Inverter

BCN-C21002-137A



saMT-HC-H150K-S

R4.S4,T4N Terminal details

(u.v) (W)

|
[

N

Terminal details

o]

P . .
Terminal details

015 2015
|8

25/ 40 20\_

T
|
|
i
holl holes
ole ‘ &
\’
|
|
|

Terminal arrangement

Terminal screw size

w = -

—_
(%]

|

86R

88Ss

RA.S4.74
o [@] ™
Mi2  [M10[M3. 5

for terminal layout.

sMT-HC-H220K

:
I p Terminal details
|

83
P2 45

90
60

& @
X

M12x 4 bolt)

\ 2‘¢15ho\aﬁ

N Tarminal details
89
45 272

] @

(a=)
WO <r
[nu]

JL \ 2-¢15hole

(N12x 40 bolt)

R4/54/T4 Terminal details

| 45 | |22
i 89

TX 1 Terminal details

Wiring in the unit

| 8
M3. 5. 5CEW

Refer to the outline dimension drawing
for terminal layout.

msMT-HC-H220K-S

R4,54.T4 Terminal details

e15

Terminal details

P Terminal details

!
- |
| 2
— -015
L\ ) hole™ | holes;\/t—
a1 \ 015 1y i & o7
QA [N
2525 hole !
275 27.5 I 29 |40 |20
Terminal arrangement Terminal screw size
R4.54.T4
IZ‘ wl |- (2] 7] 2] |2 ‘N,P D™
“ [ M2 [Wie[Hs.s

Refer to the outline dimension drawing
for terminal layout.

(29/38)

Refer to the outline dimension drawing
on the previous page.

BCN-C21002-137A



sMT-HC-H375K-S mFR-HC2-H400K

| P, kB3, 53,13 Screw size (M4)
| - Terminal details
: RiL11]S1L21
' 31 o
nole \
@ @g 5 Charge lamp
s e
= b P .
17. 5| 40| 17.5 &
=l
I Terminal arrangement Terminal screw size
o 2]
o« 17 — = o = £ Pl Els;a 13 ng 15

Refer to the outline dimension drawing
for terminal layout.

e

1
|::; m Screw size
—

| - (M4)

2]
Q
@
=
o,
N
[}
=
N
Y
]

H

. ““%
[N-] [PH] I—I
e I = B B | |

Reactor 2 Inverter Power supply

(30/38) BCN-C21002-137A



Control circuit terminal layout

The following shows the control circuit terminal layouts of the FR-HC/MT-HC(-S) series and the FR-HC2
series.

The control circuit terminal layout differs between the FR-HC/MT-HC(-S) series and the FR-HC2 series.
Check the terminal names and positions before performing wiring.

m Control circuit terminal layout of the FR-HC m Control circuit terminal layout of the MT-HC(-S)
series series
] [ ]
B B
C C
(NC) SE
(NC) cvo
(NC) RDY
(NC) Y1
(NC) aL
(NC) RSO
(NC) FH
SE SD
Y2 (NC)
Y1 (NC)
oL (NC)
RSO NC)
cvo X1
RDY X2
S0 — SOF F——m
(NC) (NC)
FM | RES
(NC) [~ (NC)
SD | D [—
(NG) [~ (NC)
X2 1 (NC) |-
(NC) —— (NC)
X1 (NC) [——
(NC) (NC)
SOF (NC)
(NC) (NC)
RES (NC) ——
(NC) (NC)
PC —— PC p—
Terminal screw size: M3 Terminal screw size: M3

m Control circuit terminal layout of the FR-HC2 series

Dedicated board for FR-HC2

-
Terminal screw size: M3
Teminals 5, IRH, IRL, TR1,

TRZ, IRD, MCO, RDO, RDI,
and MCl ara for manufacturer
satting. Keap them apen.

@

IELN

T L
G Balfa b

= T T @1 @ W
[PCIL[FMASDIUSD]

Terminal screw size: M3.5

(31/38) BCN-C21002-137A



Wiring of main circuit

The following shows the connection diagrams of the FR-HC/MT-HC(-S) series and the FR-HC2 series.
Since some of the wire connections for the high power factor converter series are different, wire carefully.
Additionally, since the connection method also varies depending on the inverter series that is connected,
perform the connection by referring to the Instruction Manual of the inverter.

m Connection diagrams of the FR-HC series

I External box High power factor convertel} Invertar
I (FR-HCB) (FR-HC) (FR-A500 series)
: MC1 i MC1 R
Note 4
i Reactor 1 MC2 Reactor 2 MC2 ? ( )
| 4
i (FR-HCLO1) (FR-HCLODZ2)
|
NFE MC | 2
o 1) = r3|3) 4)

—io—o R R2 5 - R3 R4 R4 P P U
PO“’T"—O’ S fs S22 MC “’3{3 s3 34E 54 Noted) v —
PP o T 12412 o T3 T4b—b T4 N N Wi—

|
RDY X10 (Note 5)
- RSO RES
Y1orY2s X11 (Note 5)
| Filter capacitor SR (Note 10) SE sD
T
6) R1 R1
s1 (Note 8) S1 (Note 7)

Mote: 1. Use care to minimize the wiring distance between respective terminals.

2. Before starting wiring, cover the top ventilation hole to prevent wire offcuts from entering.

3. Use the ground terminal to ground the equipment securely.

4. Keep the inverter's power input terminals R, S, T open. The inverter will be damaged if they are
connected accidentally. Also, opposite polarity of terminals P, N will damage the high power factor
converter and inverter.

5. Function setting must be made for the terminals used with the X10, X11 signals. (Refer to the
inverter instruction manual for details.)

6. Match the power supply phases before connecting terminals R4, 54, T4 and terminals R, 5, T.

7. A different power supply may be supplied to terminals R1 and 51.

8. Keep the high power factor converter’s terminals R1, $1 unconnected.

9. Do not insert the NFB between terminals P-N (P-P, N-N)

10. The R, S, T terminals of the high power factor converter (FR-HC) must be connected to the power

supply. Running the inverter without connecting the terminals to the power supply will damage the
high power factor converter (FR-HC).

11. Do not insert an MCCB and MC between the input of terminal R, 5, T of the high power factor
converter and input of terminal R4, 54, T4 of the high power factor converter in the above
connection example. The high power factor converter functions abnormally.

Number Wiring

(1) Power supply and reactor 1
{2) Reactor 1 and outside hox
(3) Outside box and reactor 2
{4) Reactor 2 and converter
(] Converter and inverter
(6) Reactor 1 and converter
(7 Power supply and inverter
(8) QOutside box and converter

(32/38) BCN-C21002-137A



mConnection diagrams of the MT-HC(-S) series (except MT-HC-H375K-S)

High power
factor converter Inverter
MT-HC-S MT
NFB MC
AT
E N
Power ap u
O v
supply o Ry W \ MO[-{gjl
— ()
& TRA,TRB : Insulaticn transformer
Combination of MT-HC converter and MT series inverter
High power Inverter
factor-converter FR
MT-HCB-S ® MT-HC-S (FR-AS40L-HC or FR-F540L-HC)
MT-HCLO1-S MT-HCLO2-S
NFE MC . .
—a [ o—o —R R26— u
:ﬁmr; —o{o—o$ 52 A" Zj;ot r|
PP — C— T T2 w
MRS/RT/AU
TRA : Insulation transformer
Combination of MT-HC converter and FR series inverter
Mote: 1. Take care to make each terminal-to-terminal wiring as short as possible.

2. To prevent wire chips from dropping to the inside during wiring work, cover the upper ventilation
hole before the work.

3. Securely wire the device with the ground terminals.

4. To detect the voltage, the input terminals R, S and T of the inverter are used. Connect them to the
same power supply as that for the high power-factor converter input. For this input, it is necessary to
modify the input terminal section of the inverter connected to the high power-factor converter. If any
existing inverter is used, please consult our company. The inverter delivered under the conditions of
the combination is modified. (Combination with the inverter of FR-A540L-HC and FR-F540L-HC)

5. If any polarity of the terminal P or N is mistaken, the high power-factor converter or inverter may be
broken. Properly connect them.

6. Connect the terminals R4, S4 and T4 to the terminals R, S and T according to the phases of the
powersupply.

7. Connect them to the terminals R1 and S1 through the insulation transformer. (High power-factor
converter)

Here, the insulation transformer is supplied as the accessory.
8. Do not insert an MCCB and MC between the input of terminal R, S, T of the high power factor

converter and input of terminal R4, S4, T4 of the high power factor converter in the above
connection example. The high power factor converter functions abnormally.

Number

Wiring

(1)

Power supply and reactor 1

2)

Reactor 1 and outside box

(3)

Outside box and reactor 2

4

Reactor 2 and converter

(3)

Converter and inverter

(6)

Reactor 1 and converter

7

Power supply and inverter

(8)

Quitside box and converter

(33/38)

BCN-C21002-137A




mConnection diagrams of the MT-HC-H375K-S

High power
Initial ch ist factor converter Inverter
n ms or Shorting contactor (MT-HC-8) (FR-A700 or FR-F700)

- ON (withBuffer relay)
| — B | ©88R
> 1 -

Reactor 1 Reactor 2
(MT-HCLO1-8) (MT-HCLO2-S)

NFB MCT %1 1 . *3 o

e L
e N AR AME 2
& o—ovo : R Doy {13 T4

Shorting contactor

*2

W | L T

Filter capacitor ~ Filter capacitor
(3%36.7uF) (3%36.7uF)

@ Shorting contactor J:_

$

7
" Insulation
transformer

\" (MT-HCTR-450)

*1 For the following wiring of main circuit, use two cables of 200 mm®.
1) Power supply and reactor 1
2) Reactor 1 and shorting contactor
3) Shorting contactor and reactor 2
4) Reactor 2 and high power factor converter

*2 For the connection to the filter capacitor, use a cable of 22 mm?>.

*3 For the connection to the initial charge re5|stor use a cable of 14 mm?. For the connection of the initial charge resistors in
parallel, use the provided cable of 2 mm?.

*4 Terminal 88R and 88S of a hlgh power factor converter must be connected to the operation coil of the shorting contactor
(cable gauge: 0.75 to 2 mm ) No connection may damage the initial charge resistor. Terminal 88R and 88S are contacts
with voltage of 400 to 460 VAC (same as power supply voltage).

*5 For the connection between reactor 1 and the high power factor converter use a cable of 1.25 mm?

*6 For the connection to the isolation transformer, use a cable of 2 mm? or more.

*7 For the connection between the high power factor converter and the inverter , use a cable of 0.75 to 2 mm? for the control

signal and cables with the wire gauge of the inverter's power supply side for terminal P and N (refer to the Instruction Manual

of the inverter).
*8 Use an earthing (grounding) cable of 100 mm or more for MT-HC-H375K-S and of 38 mm? or more for the filter capacitor.
Use earthing (grounding) cables of 100 mm? or more for reactor 1 and 2.

*9 When connecting to the FR-A540L-HC or the FR-F540L-HC inverter, connect the terminals R or terminals S each other of the

inverter and reactor 1.

Number Wiring
(1) Power supply and reactor 1
(2) Reactor 1 and shorting contactor
(3) Shorting contactor and reactor 2
(4) Reactor 2 and converter
(5) Converter and inverter
(8) Reactor 1 and converter
] Power supply and inverter

(34/38) BCN-C21002-137A



mConnection diagrams of the FR-HC?2 series (except FREQROL-HC2-H400K)

*1

+2
+3
*4
.5

-]

7

“3

Outside box (FR-HCB2)
vt resi — Converter (7
Lamil resiEion
T Reacior? (FRHC2) Inverter
MCCE MC - (FR-HCL22) a
Sl gRY Rah o RAL14 LT
53.] L13 L14 . mSLZ Ef Mcb-\'
L2, @Y S oo eTLE ] g
™ (5) RAL11
2o ol He—a T4l S1L2 =
L33 Lad e Eath
Lirmit MC1 .7 § — i !
(453 Pir P+ {Graund)
TIT @ @ Ne GO,
Flter Capatons ] ROH1 {8] m
Irnush Cumrant lrmis ol
o TSR0 v
popmeges | precen i
nper
i o/ 1 s
o =
llJ L= 0N
Sarrrinal Ly
MG power | L - 50
@ Supply siepdown = 885 MC @@;_-L
_=|__Q 7 ransformer cormaeson L
/ Reset
Ot COlliBCA0r DRI COMMINON
Converier siop

Overheat detection themostat
far the limit restaior (NC contact)  Mondlor switching

Monitor swilching

Contact input common

(&)

24VDC power supply
{Exiennal transistor commaon)

[

5

Ml - pu oS ouspar 3

wigreal output
{0 to 10VDE)
)

Do not connect anything to the inverter power input terminals RAL1, 52 and T/L3. Incomect connection will damage the inverter. Connecting opposite

polarity of terminals P and M will damage the converter and the inverter.

Use input terminal function selection to assign the terminal used for X 10 signal. (Refer to the Instruction Manual of the inverter.)
The power phases of the terminals R4/L14, 34/.24, and T4/1L.34 and the terminals R/L1, 5/L2, and T/L3 must be matched.

Do mot insert MCCB between terminals P and M (P and P, N and N).

Abways connect the terminal RVL1, S/LZ, TL3 of the converter to the power supply. If the inverter is operated without connecting the terminals to the power

supply. the converter will be damaged.

Do not insert MCCB or MC between (1} (terminal R/LT, 5/L2, and T/L2 input of the Reactor 1) and (4} (terminal R4/L14, 34124, and T4/L34 input of the

converter) of the abowve diagram. It will not operate properly.

Securely perform grounding (earthing) by using the grounding (earthing) terminal.
Installation of a fuse is recommended. (Rgfer ro page 11}

The MC power supply stepdown transformer is only equipped in the 400V class models.

(35/38)

Number

Wiring

(1)

Power supply and reactor 1

2)

Reactor 1 and outside box

(3)

Outside box and reactor 2

4)

Reactor 2 and converter

(5)

Converter and inverter

(6)

Reactor 1 and converter

()

Power supply and inverter

(8)

Quitside box and converter

BCN-C21002-137A



mConnection diagrams of the FR-HC2-H400K

(g)
Limit mssior .
(1) Raaior 1 (2} | B ——
MocE  mctll FRHGEZ) e —
——n m——a — - ]
T =y TN
Powsr L, 4L 1! e 4) T3 M -/
Supply ! Hicas Sl | Il W
ool oo ! SRAL T T
_E_HI e [Ce — @312 Eat
T TTT = i+, {Grownd)
Lisni i Ferncaat) M e M
Hlinrcmagmng mh-;i‘?;g:ac: w3 = ] —
FRHCD) Sl p—
e b cur and m Ul oufut|
il vl sy e Plr Hmit e e
g oA T o T o ey oo hosal
P L% a2
[ROH]
MG MEZ MG W | - yRES
- i |-L."'|.|'{:||u.|m e
sD
Eluar rwiary for B lary corbaifor
"I"""r":"” for  lmtMCs O mes) X3 | () u:mm?f'"" LI | FrTT— =0
-RL uT
Limil MC Fhoeat DL 1
i vartsy alop =
IOI- M sealiciing
] i T “.;‘;mrpu Copman ol arter auipu camTEn
MC power
'E'Hl:ll:‘_l,' DRI power spply ()
SEpEoW Sy [Eema
ransformer BT it rading P g M3
1+)
e
=1
(5)

Do not connect anything to the Inverter power Input terminals RUL1, SL2, and TIL3. Incorrest connection will damage the Inverer. Connecting coposite
polarty of terminais P and N will damage the converter and the invertar.
Usa Input tarminal function selection 1o assign the terminal wsed for X10 signal. (Refer o the Instniction Manwal of the Inverter.)
The power phases of the terminals R4/L14, 34/L24, and T4/L34 and the teminals RAL1, 3/12, and T/L3 must be matchead.

Do not Insert MCCH betwean terminais Pi+ and M- (P and P, N and M)
APways connect the terminal B, S, and T of the converier 1o the power suply. I e Inverier Is operated without connecting the terminals to the power sugply.

the converier will be damaged.

Do not Insen MCCE or MC betwesn (1) (terminal RAL1, 512, TIL3 Input of the convener) and (3) (ierminal R4/L 14, 54/L24, T4L34 Input of the converter) of
the above diagram. It will not operate groperly {except for the Innush cument Imit MC).
Sacurely perform grounding (earthing) by using the grounding (earthing]) terminal.

Installation of a fuse ks recommiended.

Mumber Wiring
{1} Power supply and reactor 1
{2} Reactor 1 and reactor 2
{3} Reactor 2 and converter
{4} Converter and imverter
(5} Reactor 1 and converter
(g) Power supply and imverier
Filter capacitor alamm detecior

@ and converter

(36/38)

BCN-C21002-137A



(ggrLg)

YLEL-200LED-NDE

3. PARAMETER

Some parameter numbers and the setting values differ. Please refer to the remarks in the following table to set the parameters.

The parameter number of the |:| parameters differs from that of the FR-HC/MT-HC(-S) series converter. Setting  ©: Set the FR-HC/MT-HC(-S) parameter as it is.
A: Change the FR-HC/MT-HC(-S) parameter and set.
X: Adjust or set the FR-HC2 parameter.
FR-HC/MT-HC(-S) parameter list FR-HC2 compatible parameter Parameter setting
Function Name Setting range Initial value Function Name Setting range Initial value | Setting Remarks
Number number
Power supply 60.00 Hz/ Maximum power supply
1 frequency 1 (Read only) 70.00 Hz L frequency (Read only) 60 Hz ©
Power supply 50.00 Hz/ Minimum power supply
2 frequency 2 (Read only) 45.00 Hz 2 frequency (Read only) 50 Hz ©
Overload signal 0 to 200%/ o . o 0
22 detection level 0 to 150% 150% 22 Current limit level 0 to 220% 150% ®
Y1 terminal function The initial values of terminal assignment are as
13 . 3 A
selection 010 16. 98 99 follows.
40 Output terminal 0to 33/ 1 14 Y2 terminal function 100 to ilG ’198’ 4 ® Terminal OL (FR-HC/MT-HC(-S))
assignment Oto3 selection 199 99‘99 ' — Terminal Y1 (FR-HC2)
15 Y3 terminal function ' 5 A Terminal Y1 (FR-HC/MT-HC(-S))
selection — Terminal Y3 (FR-HC2)
Input power monitoring 0 to 100 kW / Input power monitoring
51 reference 0 to 400 kKW Rated power 51 reference 0to 100 kW / 0 to 3600 kW | Rated power ®
PU main display data DU/PU main display 0, 5to 10, 25, — . .
52 selection 0 to 3333 123 52 data selection 1111 to 4444 1234 ® The initial values for both series differ.
53 Inpu; vqltage 0to 500.0V/ 220 Vv/440 VI 53 Input voltage monitoring 0 to0 500 V 220 /440 V < Setting over 500 V is unavailable. Set within the
monitoring reference 0to 1000 V 460 V reference range.
FM terminal function FM terminal function 1t03,5,6,7, 21, S . .
54 selection 0 to 3333 123 54 selection 1111 to 4444 1234 ® The initial values for both series differ.
Bus voltage monitoring Bus voltage monitoring
55 reference 0to 1000.0 V 340 Vv/680 V 55 reference 0 to 1000 V 340 Vv/680 V ®
56 Current monitoring 0to 500.00 A/ Rated current 56 Current monitoring 010 500 A/ 0 to 3600 A Rated ®
reference 0to 1000 A reference current
57 Restart selection 0, 9999 9999 57 Restart selection 0, 9999 9999 ®
65 Retry selection 0,1,2,3 0 65 Retry selection 0,123, 4 0 ®
Number of retries at 0 to 10, Number of retries at
67 alarm occurrence 101 to 110 0 67 fault occurrence 010 10,101 to 110 0 ©
68 Retry waiting time 0.1t0360.0 s 10s 68 Retry waiting time 0.1to 360.0 10s ®
Retry count display Retry count display
69 erasure 0 0 69 erase 0 0 ©
77 Pararr_leter write disable 1,2 5 77 Parameter write 1,2 5 ®
selection selection
145 Parameter unlt _ 0.1,2 3 0 145 PU dlsplay language Oto7 0 ®
language switching selection
900 FM terminal calibration - - co FM terminal calibration - - X Calibrate terminal FM according to the Instruction
(900) Manual.




4. OPTION

The following table shows which FR-HC/MT-HC(-S) series options are compatible with the FR-HC2 series

converters and their corresponding FR-HC2 series options.

Name

Option model

FR-HC/MT-HC(-S)

FR-HC2

Parameter unit (Japanese)

FR-PU02;, FR-PUO3

Parameter unit (English)

FR-PUO2E(,)

Parameter unit (4 languages)

FR-PUO2ER(4)

Parameter copy unit (Japanese)

FR-ARW.;, FR-ARWO03

FR-PUO7, FR-PUO7BB,
FR-DUOQ7 (attached to the inverter)

@ | Parameter copy unit (English) FR-ARWE.;, FR-ARWO03E
2 | Parameter copy unit (4 languages) | FR-ARWER.
% Parameter unit connection cable FR-CBL[] FR-CB201, 203, 205
© | Accessory cover - -
% heatsink protrusion attachment FR-ACNI[] FR-A7CNO2, FR-A7CNO04, FR-A7CNO05, FR-A7CN09
& | Totally enclosed structure
attacr):ment FR-ACVII] B
Conduit connection attachment FR-AFN[[ —
Radio noise filter FR-BIF(-H) Compatible
Line noise filter FR-BLF Compatible

(38/38)

BCN-C21002-137A



